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FA IS X 0t
Hm: Lol =X =
&elr oISt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
QI ORI =X 2t 135,361,669 116,347,378 19,014,291
= 90,449,118
[ 1,583,347
Al 24,838,661
Ea 18,490,543
col =X sd 105,135,587 96,065,925 9,069,662
= 70,994,570
[ 1,473,503
Al 16,958,460
= 16,709,054
cel=X2el 105, 135,587 96,065,925 9,069,662
= 70,994,570
= 1,473,503
Al 16,958,460
o 15,709,004
Lo=gR 29 582,550 394,084 188,466
Al 18,000
o 564,550
201 2= 27,728 37,812 10,084
01 At22t2l] 10,208 14,520 N4,312
OLQI=XII2 2MAs| HAsY
100, 0002 +624%23] 1,200
O 2a3 X@ oM HASY
100,000 x9& »23] 1,800
OARY 2% B HH S
3,000 x3202 22 1,920
OLQ=TAY =2 2 S22 MH
100, 0002 +8H 800
O1% 2R AUAE RAI22
99,0003 +20 A+ 122 2,376
OZa7E2g 52| RAl&c
88,0003 201 A= x 128 2,112
02 3224l 17,520 23,292 Nb, 772
OAMEEHIS2eIHI(THet=2lsl X3l
EIARA) 1,125,000 8K 2 9,000
OAMBIEZHEAIAH eJBIRE 23
5,040,000& 5,040
OZa7EZ2Y s3I IIZAM
240,000 20 2+ 13] 480
OFRY BUIH| R 22
50,0002 *60IH 2= 3,000
203 AHR=H] 3,000 3,000
03 A= PR FAI| 3,000 3,000
OLQIHHA SR AP RFEH
3,000,000 3,000
301 EtE NS 300,500 105,950 194,550




FA IS X 0t
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&elr oISt EER=E)
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02 MBI 2HHSFHS(HAANS, XLHE) 70,500 70,350 150
OMaASE S 88 W=
20,0002 *600H <22 24,000
OofolE B2Y A
50,0003 *3107H 2 15,500
oYE F2Y 9L
50,0002 *3109 2+22] 31,000
11 dALEEIXIZE S 2,000 2,000 0
O=0lel 2 JIG&Ar & JIEFAL ZOHAT &
af 2,000,000& 2,000
14 JIEt2a3 228,000 33,600 194,400
OXNSESAXN R s X
228,000,000 228,000
307 212+01& 251,322 247,322 4,000
Al 18,000
= 233,322
02 2IZHBHAIHE £ 56,290 52,290 4,000
OLeHNoIES &dl3 4,000,000 4,000
O&tltistizl A XI& 2,000,000 2,000
O ZeH0F DHAKK MY 24
10,000,000& 10,000
Oet2t ==isl X 2,000,000 2,000
Ogt=lzl 2gX& 2,000,000& 2,000
OelAa82)| tel 7,000,000& 7,000
O3dz<gald Wsdl X& 8,140,000& 8,140
Otet=ols] X3 & 23 J&X A8t K&
21,150,000 21,150
03 2IIHHEE2SHIEX 195,032 195,032 0
Olgt=0ls 248 gdat A&
18,000,000 18,000
Al 18,000
Otiet=elsl Xz 24 X
122,112,000& 122,112
Otfet=olsl =2 28 XA
54,920,000 54,920
=4l Bote =M 29 180,000 180,000
307 212+01& 180,000 180,000
04 QIZHHAIAIH E X 180,000 180,000
oozl stotg =M 180,000,000 180,000
DIESS SN 87,275,273 79,735,402 7,539,871
= 69,820,218
Al 13,964,044
[Ea 3,491,011
301 2eEN= 87,275,273 79,735,402 7,539,871
= 69,820,218




FA IS X 0t
Hm: Lol =X =
&elr oISt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 13,964,044
s 3,491,011
01 A2 HSHS(RNEERTH) 87,275,273 79,735,402 7,539,871
(OFJESI= NI, 87,275,273,000& 87,275,273
= 69,820,218
Al 13,964,044
[Ea 3,491,011
Lol 2D & 48 2| X2 122,900 0 122,900
301 EtE NS 122,900 122,900
02 ARSI 2EH 2GS (HAAHS, W) 122,900 122,900
Okl 23| & dolg 28| X3 122,900
deg dtgd 2 =4 XA 738,964 589,416 149,548
= 369,482
Al 184,741
= 184,741
307 elztol & 738,964 589,416 149,548
= 369,482
Al 184,741
2 184,741
11 AIBI =AY X 738,964 589,416 149,548
OARL Wikl W 22| N
738,964,000 738,964
= 369,482
Al 184,741
Ea 184,741
Z2Y dtgd] 2 23] K (FIk2h]) 141,050 140,59 455
307 elztol & 141,050 140,59 455
1 AMEISXAEEXS 141,050 140,595 455
OZ=zdg 4l N& 46,500,000& 46,500
OoZ=2d ¥=ad= A& 94,550,000 94,550
d2g 29 N 337,200 337,200 0
Al 269,760
[Ea 67,440
307 212+01& 337,200 337,200 0
Al 269,760
s 67,440
11 AMEISXAEEES 337,200 337,200 0
OZ=zd 244l N& 337,200,000 337,200
Al 269,760
o 67,440
Z2g 2¢ XA (Ft2l) 372,000 370,800 1,200
307 @120l & 372,000 370,800 1,200
1 AMISXAIEEX 372,000 370,800 1,200
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307 gl2to| & 1,302,000 1,297,800 4,200
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F2E 283 Mg XE 16,850 16,850 0
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307 el2to| & 16,850 16,850 0
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OZ2E =3 T2 22|kt HHXIALY
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ded i & HYEE I 27,122 26,468 654
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OZ=¢ =t & HYFE It
27,122,000& 27,122
F2E 3 MG X 110,000 100,000 10,000
307 212+01& 110,000 100,000 10,000
02 2B HAHE L 110,000 100,000 10,000
OZz2d 232 SZMHd At
100,000,000 100,000
OFFH & S8 A& At
10,000,000 10,000
Y A& SFHE At 18,000 20,000 /2,000
Al 9,000
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Al 9,000
s 9,000
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—Z2ARIEZE |2
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OZ2g €513 32 28
10,000,000 10,000
03 AlESTHYI 10,000 0 10,000
das 4=1-33=2€ HE
10,000,000 10,000
d2d dJ| Es 90,000 90,000 0
201 Ler23 | 90,000 90,000 0
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s ZoHel SXl2tl (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
301 LtENZ 389,481 389,481 0
= 212,637
Al 81,791
[Ea 35,053
01 AR 2EHSHS(RNEXRTHE) 389,481 389,481 0
OFMW+(Ra9 S) X2
389,481,000 389,481
= 272,637
Al 81,791
o 35,053
ZoHe! He+== X 163,000 163,000 0
Al 163,000
301 2N = 163,000 163,000 0
Al 163,000
02 MR 2HASFHS(HAAS, XLHE) 163,000 163,000 0
O He+=g X2 163,000,000 163,000
Al 163,000
Zoelel=Hl X 66,195 66,195 0
= 52,956
Al 13,239
308 AHXIEMSOIE 66,195 66,195 0
= 52,956
Al 13,239
183 S| 2SO ZB & HAEAIE 66,195 66,195 0
OO0 o=Hl XI& 66, 195,000& 66,195
= 52,9%
Al 13,239
Zoje! BsX=20 A 14,236,9% 4,835,164 9,401,832
= 9,965,897
Al 2,135,550
= 2,135,549
308 AXIHMSO0IA 14,236,996 4,835,164 9,401,832
= 9,965,897
Al 2,135,550
Ea 2,135,549
183 SIS0t 4 EAS AL S| 14,236,9% 4,835,164 9,401,832
OFe! gsX& 14,236,99%6,000& 14,236,9%
= 9,965,897
Al 2,135,550
[ia 2,135,549
ZoHe! ESXAS0 XA (FIHAIHI) 165,270 165,270 0
Al 165,270
308 AHXIEMSOIE 165,270 165,270 0




SN CoIEofoI= X Tt
A ZOHI=XSE
s ZoHel SXl2tl (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 165,270
13 BI |2 SOICHEH B A X LAE AL 165,270 165,270 0
OOl BSXR AlLIZEI} X2
165,270,000 165,270
Al 165,270
2sX& Jteta0 10,035 10,035 0
= 7,025
Al 3,010
308 AXISHMSO0IA 10,035 10,035 0
= 7,025
Al 3,010
13 SI|2ASHICHEH B AR L EFALH] 10,035 10,035 0
OtskE =0 10,035,000& 10,035
= 7,025
Al 3,010
LETHEMEIA BHIRH K& 615,600 615,600 0
= 430,920
Al 184,680
308 AXIHMSOIH 615,600 615,600 0
= 430,920
Al 184,680
13 SI|2ASHICHEHE A X L EFALIH] 615,600 615,600 0
OONOIS LLTBAMLIA Ate)
615,600,000& 615,600
= 430,920
Al 184,680
SR R2aE XA 1,700 1,700 0
= 1,190
Al 510
308 AXIHMSOIH 1,700 1,700 0
= 1,190
Al 510
13 BI |2 SOICHEHE A X LAE AL 1,700 1,700 0
OgZHoel 224 X2
1,700,000& 1,700
= 1,190
Al 510
SXI|F =R 5,250 5,250 0
= 4,200
i 1,050
301 LPENZ 5,250 5,250 0
= 4,200
i 1,050

=
I
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FA IS X ot
M =S
el ZoHel S X2t EER=E)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
Al 30,590
11 ABI= XA 2 X 305,900 230,000 75,900
OBOWIHEAIL MHZOH
305,900,000 305,900
= 275,310
Al 30,590
OHRIA=AIE 29 X2 5,146,334 4,812,663 333,671
= 3,602,434
Al 1,543,900
307 elzto| & 5,146,334 4,812,663 333,671
= 3,602,434
Al 1,543,900
10 AlISXAAEEHE 22X 5,146,334 4,812,663 333,671
Oglzdl X 4,604,700,000& 4,604,700
= 3,223,290
Al 1,381,410
OZcl2gd N2 541,634,000 541,634
= 379,144
Al 162,490
O HFAIE AHIEA0I1E2 KIJ 112,809 112,809 0
= 78,966
Al 33,843
307 gl2to| & 112,809 112,809 0
= 78,966
Al 33,843
11 ARRIS XA E X 112,809 112,809 0
OadIgA0lEE XI&E 112,809,000 112,809
= 78,966
Al 33,843
O H=AIE SIIEED| eE X 3,668 8,235 N4,567
= 2,201
Al 1,467
307 el2tol & 3,668 8,235 N4,567
= 2,201
Al 1,467
1 AMISXAIEEXS 3,668 8,235 N4, 567
OFOMHNFAIE SIIEEI| elg X
3,668,000& 3,668
= 2,201
Al 1,467
HAIANFAIE 28 KA (BALN S+=224H) 85,200 85,200 0
Al 85,200
307 @12t01 & 85,200 85,200 0




SN CoIEofoI= X Tt
M =S
el ZoHel S X2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 85,200
10 Al SXAZEE 22X 85,200 85,200 0
OBAL SX+¢ 85,200,000& 85,200
Al 85,200
ANE2ESH 2SS 288 € EARAH XA 1,670 1,670 0
Al 1,670
307 glztol & 1,670 1,670 0
Al 1,670
1 AMISXAIEEX 1,670 1,670 0
ONSSSHHO BE] AR S FIHX
2 (2rAld] Z§) 1,670,000& 1,670
Al 1,670
ANE2ESZ0He! dR2tSHl XA 4,445 4,445 0
Al 4,445
307 elztol & 4,445 4,445 0
Al 4,445
11 AMRISXAEEES 4,445 4,445 0
OAIEES e 2tSH S K&
4,445,000 4,445
Al 4,445
oSS HEIE Xz 111,086 111,086 0
Al 111,086
307 elzto| & 111,086 111,086 0
Al 111,086
10 AlRISTIAIEEE 22X 111,086 111,086 0
O sSdEIIE 24| N
24,000,000& 24,000
Al 24,000
Ol sSdEIHd 21d| X
87,086,000 87,086
Al 87,086
JOHI XS HEAIE 2 345,437 345,437 0
Al 345,437
307 gl2to| & 345,437 345,437 0
Al 345,437
10 Al SXAIEEHE2EHI 22X 345,437 345,437 0
OHUMAXNL AL 2 324,137
— oAl XI& 258,837,000 258,837
Al 258,837
—2el2gdl N3 65,300,000& 65,300
Al 65,300
O XI& 21,300
—MotEoiel SAHl K&
21,300,000& 21,300
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FA IS X ot
M =S
el ZoHel S X2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 345
307 gl2tol & 1,150 0 1,150
= 805
Al 345
11 ARRIS XA E X 1,180 0 1,180
OZOHANFAIE [T AIZE SSAE 24|
A& 1,150,000& 1,180
= 805
Al 345
FAASKE Jletzd 1,959,594 1,636,180 323,414
= 1,237,600
= 109,844
Al 282,136
T 330,015
FAAHSXH 1,873,750 1,556,340 317,410
= 1,237,600
[ 109,844
Al 249,935
o 276,371
==X 1,547,000 1,234,550 312,450
= 1,237,600
Al 154,700
= 154,700
301 LEtE NS 1,547,000 1,234,550 312,450
= 1,237,600
Al 154,700
[Ea 154,700
01 AR 2EHSHS(RDNEXRTHE) 1,547,000 1,234,550 312,450
Oda=Al 1,547,000,000& 1,547,000
= 1,237,600
Al 154,700
s 154,700
SE At 2t2lA 21248 X~ 135,504 135,506 A2
[ 67,752
Al 33,876
s 33,876
101 ©1AH| 129,984 129,746 238
[ 64,992
Al 32,496
[Ea 32,4%6
03 SRA(RIH )22 U2+ 124,337 98,584 25,753
OSEAtAZEIAHSRA 224t 2] 97,307
—JlZ2s 2,124,750 «3E« 128 76,491
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2A:

S FHeOIENR JIBEM
=t FHUASKE (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ

= 38,247
Al 19,122
s 19,122
—A2te|=& 152,403 32~ 123 5,490
= 2,740
Al 1,375
o 1,375

—EX30EEs { HEFE=
425, 7002 x3H 128 15,326
= 7,664
Al 3,831
s 3,831
O=s2 S84 224 2] 27,030
—Jlzs 2,124, 7503« 1H* 102 21,248
= 10,624
Al 5,312
[Ea 5,312
—A2tel=& 152,490« 1+ 102 1,525
= 763
Al 381
[Ea 381

—EX30EEs & HERE=S
425, 7003« 1H* 102 4,257
= 2,129
Al 1,064
Ea 1,064

04 JIZtN2 2N sE+ 5,647 31,162 N25,515

OSEAtIZIANOIZEM 22 ) 1A 5,647
—Jlzs 2,124, 7503 1823 4,250
Fas 2,126
Al 1,062
= 1,062
—AlZ2tel=¢ 162,403 1823 305
[ 153
Al 76
= 76

—EX30EEE & HERES
425, 7002 x1H 2 852
[ 426
Al 213
s 213
—E30 120,000& 1823 240
[ 120
Al 60
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2A:

S FHeOIENR JIBEM
=t FHUASKE (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 60
202 04| 5,520 5,760 A240
[ 2,760
Al 1,380
Ea 1,380
01 2L AL 5,520 5,760 A240
OSE At 22l AL 1218] 5,520
~ S0 (22X 22X 3)
120,000 x3& * 122 4,320
= 2,160
Al 1,080
o 1,080
—EY0HI(5A 22X 19)
120,000&x 12 =103 1,200
= 600
Al 300
s 300
SEAHIZ2IAL Q1A X2 (=0t=2HI) 56,536 47,449 9,087
101 @124H| 48,876 41,689 7,187
03 SR (RINHA) 222+ 47,056 34,687 12,369
OSeAtd2eAHSRA 224 A 47,056
—dgna0i=(3g)
1,234,3302 *110%+3H 4,074
—3FA 22 XH(3Y) 34,085
SESRIHI
2,425,660 x3H x40%*22] 5,822
JlEs 300,910 +3&* 122 10,833
- MG AHI 140,0002 <3+ 122 5,040
&g 140,000& 32+ 123 5,040
- A= ERIE
1,841,680 +3H 5,526
2 LPFE 50,6402 %3~ 122 1,824
-5z 22X(1Y) 8,897
SE S|
2,406, 2002 x 1 *40%* 12| 963
JlEs 281,450 x1E 10 2,815
dAZAlI 140,000 x 12 x 102 1,400
- ExE 140,0002 x1&x 102 1,400
- AXRERIY
1,827, 40& x1H 1,828
2 RSE 49,0703 x1&=10& 491
M ORINZZE2NSE S 1,820 1,700 120
OJ12HMl 22X ™SI d| 1,820
—SXEUE 300,000& %1 300
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2A:

S FHeOIENR JIBEM
=t FHUASKE (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—3&sd 300,000 14 300
—Ct2 &I 1,219,950 1 1,220
202 04| 7,360 5,760 1,600
01 2L AL 7,360 5,760 1,600
SEAtAZelAF =0 7,360
—2tU JI2L2R +HOHI(SRAZ 23
) 160,000& x3&* 123 5,760
—E Jl2YR SHOIYI (SR 22IHY)
160,000 x1&x10 1,600
303 Z&=s 300 300
01 Za= 300 300
OZAS 300
—ChSHARHA S NI R 2 (12))
300,000 *1& 300
AZ7 SEAtdl2tel K& 15,000 15,000 0
= 7,500
Al 3,750
Ea 3,750
201 2egh=3| 7,500 7,500 0
s 3,750
Al 1,875
s 1,875
01 AtR2tc|bI 7,500 7,500 0
OAtell2telAtg 24| 7,500,000& 7,500
[ 3,750
Al 1,875
o 1,875
301 EtE NS 7,500 7,500 0
[ 3,750
Al 1,875
o 1,875
01 Al EE A S (2 RDEEMA) 7,500 7,500 0
OAtellZiel AFY XI3 bl 7,500,000& 7,500
[ 3,750
Al 1,875
o 1,875
SHES XEE SEAMHA NEH 49,410 49,410 0
[ 34,592
Al 7,409
o 7,409
201 er2 3| 24,705 24,706 0
= 17,296
Al 3,705
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2A:

S FHeOIENR JIBEM
e FHASAE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 3,704
01 AtR2t2|HI 24,705 24,705 0
OAtellZiel Al 22| 24,705,000 24,705
[ 17,296
Al 3,705
o 3,704
301 LEetE2 N = 24,705 24,706 0
[ 17,296
Al 3,704
= 3,705
01 Al EE A2 (2RNEXMR) 24,705 24,705 0
OArell2tel Al Y XI&H] 24,705,000 24,705
= 17,296
Al 3,704
= 3,705
Made Qe Xa 4,000 4,000 0
201 er23| 4,000 4,000
01 AtR2t2|HI 4,000 4,000
OF)H&td Hdbls 800,000& x5t 4,000
2ot ST AA2A 42,200 57,825 15,625
Al 42,200
301 EtE N = 42,200 57,825 N15,625
Al 42,200
02 MBI 2HHSFHS(HAANS, KLHE) 42,200 57,825 N15,625
OR4d 2Ig8=X K& At
42,200,000 42,200
Al 42,200
SXA00 A0 Zoy= A 3,500 0 3,500
201 er=3 | 500 500
01 At2t2lt] 500 500
OS=E=3 N& S 500,000 500
301 EtE NS 3,000 3,000
14 IIEt2 83 3,000 3,000
O=XLPDII A=
50,000 +63| 10 3,000
SO & MASE 33 N3 MY 8,000 0 8,000
Al 8,000
301 EtE N = 8,000 0 8,000
Al 8,000
02 ANRI2HH S (FHAAS, NLHE) 8,000 0 8,000
ORHIT & MASE S X2 At
800,000& 104 8,000
Al 8,000
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FA IS X 0t
ma: FoHEXR JIHEA
=Rl FAASK (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAHD AMLX Hell X 12,600 12,600 0
301 LEtE N = 4,800 0 4,800
02 A2 XS (FAAS, NLHA) 4,800 0 4,800
ORI AMA ZHIXldl A&
800,000 624 4,800
308 AtAIEHMSOIE 7,800 0 7,800
18 SISt AS A 7,800 0 7,800
ORGLD AL A2 51 7,800
INEINEEIE=PN 85,844 79,840 6,004
Al 32,200
= 53,644
KSAR S| oY 2= 2 11,300 10,796 504
201 er23 | 9,100 4,300 4,800
01 At2teltl 4,300 4,300 0
ER=last sl 4,300
—NSAISAHEY A52Y 3,800
Ared OHLH ZRXF HIE
7,000 *400% 2,800
AN EES 2 HRE MM S HE
2008 *1,000&+5E 1,000
—AE EEE Y HMH
100,000 58 500
03 &A= 4,800 0 4,800
Oslgdlist=ss 23 4,800
—Z2H2E HEH
900,000& %52 4,500
—EEdH & 29 2d ARESE 7
300,000 300
301 EtE NS 2,200 2,200
11 #AIAHIXIE S 2,200 2,200
OsLMslist 22
8,000 x5 +53] 2,200
NSAte 282N 22 13,044 13,044 0
201 er2 3| 10,900 10,900
01 At2teltl 10,900 10,900
O=2g+¢ 10,900
—HEHE2N 32 &4 ¢
100,000 x 12 *23] 2,400
—MDHIN RS EA gt
100,000& *17 & 53] 8,500
301 LEIE NS 2,144 2,144
11 dALEEIXIE S 2,144 2,144
OXNS A28 AH 24
8,0002+67 H+43] 2,144
NEA2ZEHAM AIR= EXI2E 46,000 46,000 0
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FA IS X 0t
ma: FHoHEXR JIHEA
=2l NSARISX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 32,200
s 13,800
307 lztol & 46,000 46,000 0
Al 32,200
= 13,800
10 Al SXAAEEHE2EHI2x 36,000 36,000 0
OAtR= 212H| 36,000,000& 36,000
Al 25,200
o 10,800
11 ARRIS XA E X 10,000 10,000 0
OArZHI 10,000,000& 10,000
Al 7,000
Ea 3,000
XA SZEAM AIR= EX28(FI1=2h]) 15,500 10,000 5,500
307 elzto| & 15,500 10,000 5,500
10 Al SXAAIEEHE 22X 15,500 10,000 5,500
OAtR= 28| 3,000,000& 3,000
OAIR= 212 12,500,000 12,500
NSt SXAHIA 238t 63,143 46,000 17,143
Al 43,000
= 20,143
SI=KIXE 63,143 46,000 17,143
Al 43,000
Ea 20,143
JI=Etd3s A 6,000 6,000 0
Al 3,000
s 3,000
307 @I2t01 & 6,000 6,000 0
Al 3,000
[Ea 3,000
11 AMEISXAEEES 6.000 6,000 0
OJl=zEw3 X3 6,000,000 6,000
Al 3,000
= 3,000
JI=ZEOEIXA 57,143 40,000 17,143
Al 40,000
Ea 17,143
307 @20l & 57,143 40,000 17,143
Al 40,000
s 17,143
11 ARRIS XA E X 57,143 40,000 17,143
OJI=ZEDn X3 57,143,000 57,143
Al 40,000




OIS I
NS Atel SXIAMEIA 23t
S|L=XXE
S A - BRI - NRA - BES of e A
| 1] = 17,143
SHE2HAHI (RIS XI1) 106,156 106, 156 0
J12ZHI( - Z0HI= X 1t) 106,156 106, 156 0
Jl2ZH(- I Z0oHeI=S X2t 106,156 106, 156 0
201 er23| 42,556 42,556 0
01 At2teltl 42,356 42,356 0
Odgt==H| 15,809
—SAMIIZ2 AFRESHI
5,000 25 122 x90% 1,350
—=AEX 20,0003 x25F x52F A *90% 2,250
—diOIMEEH E
209, 0002 +BLH*52]*90% 7,524
—ZdZeH &Y
250, 0003 *4LH*42]«90% 3,600
—=AD &Y 55,0003 *1CH*32/*90% 149
—=S M| EE 200,000 *1CH*12/*00% 180
—d2R=R 7%
S 20,0002 x25* 12«90k 432
NN 15,0003 x25* 122 *90% 324
O=gl 25,920
—SEAIIZYR S2 Al
8,000& *x25Z x 122 123 »90% 25,920
O8=J| itz 627
—&d=J SRz
40,0002 *1CH* 122 *00f% 432
-8 28 wH
18,0003 »1CH* 122 «00% 195
02 S3=4gl 200 200
OAE &8I Xl 200
—SAHI 200,000 *1CH 200
202 04| 58,800 58,800
01 =LHOLI 58,800 58,800
OZUl=ge =doi|
20,0003 25 x 14«12 x7(% 58,800
203 gR=8| 4,800 4,800
04 A2 LRFAI 4,800 4,800
ORNEgE =AY 400,000 12& 4,800
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